PARTS LIST
NOTE: ITEM[ QTY [ PART NO. PART DESCRIPTION LENGTH | UNITWT. NET WT.
FOR POLE SIZES
o DIAMETER 1 | 4 | xucLma MI"NI QLiAD MOUNT WELDMENT 19.33 77.32
ORDER SEPARATELY 2 | 8 | G58R-30 5/8" x 30" THREADED ROD (HDG.) 2.61 20.91
PART # "QP-6" 3 | 8 | G58R14 5/8" x 14" THREADED ROD (HDG.) 1.22 9.76
4 | 16 | Gs8Fw 5/8" HDG USS FLATWASHER 118 in 0.07 113
5 | 16 | G58LW 5/8" HDG LOCKWASHER 0.03 0.42
6 | 16 | G58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 2.08
TOTALWT. #| 110.48
10-1/2" TO 42"
DIA. POLE
X 7
21/2"
(REF.) 15 19/32"
[ (REF.)
-
(REF.)
L1 I | T ¥ T T
¢ @ |o o| @F——>lp {o=——=i& |o o| @——-
6" 9 3/4"
(REF.) (REF.)
‘-|—|_‘@b O\ o dg‘_r.l_ab 4‘-|—|_‘ d |O o| ¢ ‘_|—|_’»
11/16" DIA.
(REF.)
TOLERANCE NOTES DESCRIPTION %NV
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: MINI QUAD g.rE l Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£ 0.030") RING MOUNT Ro Support Team: I';?s An%zleli‘, cA
DRILLED AND GAS CUT HOLES (£0.030") - NO CONING OF HOLES ASSEMBLY , 1-888-753-7446  Plymou .
LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont WP covANY Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING #0,030'7 CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (£ 0.060) CEK  5/10/2017 UGLM4 oz
:"RDPHEIAR’VNOTE: INTHIS DRAWING LMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
va N
INDUSTRIES AND GONSIDERED ATRADE SECRET. o | 81|01 CUSTOMER |BMC 6/12/2017 UGLM4




